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OEMA B
B1. BT’ = i + v=(-235)+(2, 0)=(0, 5)
AB = 6v=6(Z, 0)=(12, 0)

AT = ABBI'=(12, 0)+(0,5)=(12,5)
B2<E6to-B(x, L). Tote AB=(x+1, A+2)=(12,0)
Apax=11, A=-2 ka1 B(11, -2)

‘Eoto (%, y). Téte AT=(x+1, y+2)=(12,5)
Apax=11,y=3 ko I'(11, 3)

B3.AB-B[ =12-0+0-5=0.Apa AB L BT’



A
Apa ABI" opboydvio pe B = 90°

OEMA T
x+1
, 20-1=x A== A=2% 2
I'l.’Ecto 3L+ 2 = S i1 = 2
Te=y 35-+2=y Bx-2y+7=0

Apa 3x-2y+7=0 ek16¢ TOL onueiov (-5, -4)
I2.i. v 2=1: A(1, 5), B(1, 2), I'(2, 3)

AB =(0, -3), AT=(1, -2), det (AB, ﬁ)=|‘1) :§| -3
Apa (ABF)=§ |det(ﬂ§, ﬁ)| = zr. LLOVAOEG.

ii. Apr=1, BI': y-2=1 (x-1) épa x-y+1=0

p=d(A, BI)=22

c: (x-1YH(y-5)=

OEMA A

Al. A’+B2AT=(\-2+(M4)?-4-4=202+41+4>0 yoti A<0. Apa n (1) mapiotdvet
KOKAO.

2—-1 -4
A2 K (50
%4

~2
> A=2-12x A=2-2x
/1_4<=> -24+2x-4 &S X—y—3=

y=—" V7773

x =
"Eot®

A3.c: y*=2px
I'a A= -4 K(3, 0). Apa E(3, 0) omdte p=6 ko ¢: y>=12x
A4. yy1=p(x+x1)=2v3y=6(x+1)=3x-v/3y+3=0



